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QUESTION 1

Using the WSDL editor, how can a developer create anew message for an operation input? 

A. 1. In the Graph view, right-click on space below the message column 

2.

 Select New -> Message 

3.

 Provide the name of the new message and click OK 

B. 1. In the Design view, right-click on the input message under the operation table 

2.

 Select Set Message -> New Message 

3.

 Provide the name of the new message and click OK 

C. 1. In the Design view, select the input message under the operation table 

2.

 Click on the Add message icon in the tool bar 

3.

 Provide the name of the new message and click OK 

D. 1. In the Graph view, right-click on the name of the input message 

2. Select New -> Message 

3. Provide the name of the new message and click OK 

Correct Answer: B 

 

QUESTION 2

A developer uses the Web service client wizard in IBM Rational Application Developer. What will be different in the
generated artifacts? 

A. Additional methods will be generated to invoke the Web service. 

B. A JAX-RPC handler is created to handle the response from the Web service. 

C. The ibm_webserviceclient_bnd.xmi file specify that the invocation is asynchronous. 
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D. There is no change in the generated artifacts, only the methods called from the actual client will vary. 

Correct Answer: A 

 

QUESTION 3

Which of the following are the benefits of using the UDDI Registry? 

A. Enable service governance 

B. Maintain the lifecycle of services 

C. Encourage service reuse in an organization 

D. Document management and access control 

E. Allow service consumers to discover services 

Correct Answer: CE 

 

QUESTION 4

Which of the following can be changed using Web Services Explorer? 

A. Endpoint URL 

B. Policy Set Attachment 

C. Adding HTTP Headers 

D. Adding SOAP Headers 

E. Input values to the request 

F. JSR-109 Deployment Descriptors 

Correct Answer: ADE 

 

QUESTION 5

Refer to the WSDL extract in the Exhibit. What type of operation is this? 

A. One-way 

B. Notification 

C. Solicit response 

D. Publish/subscribe 

E. Request/response 
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Correct Answer: B 

 

QUESTION 6

A developer is creating a JAX-WS Web service. The Web service will be used to sendcheque image file 

from the provider to the requestor. Given the following extract: 

@MTOM(enabled=true, threshold=50) 

@Web Service(name="Image Service", 

target Namespace="http://com.test.ImageService") 

public class Image Provider { 

What does the threshold parameter indicate? 

A. The minimum number of attachments that can be sent in the message 

B. The maximum number of attachments that can be sent in the message 

C. The maximum size in bytes for each attachment to be sent using MTOM. 

D. The minimum size in bytes for each attachment before MTOM is used. Smaller attachments will use base64 inline
encoding. 

E. The maximum size in bytes for each attachment before MTOM streams to disk. Smaller attachments will keep the
attachment in-memory. 

Correct Answer: D 

 

QUESTION 7

What does "restoreConfig" do? 

A. It fixes a corrupted node based on the Deployment Manager settings. 

B. It fixes a corrupted cell based on the Deployment Manager settings. 

C. It returns the state of the server to its initial newly installed settings. 

D. It replaces the current configuration settings with a previously backed-up copy. 

Correct Answer: D 

 

QUESTION 8

An online retailer would like to expand the supply chain Web service application by adding new third party suppliers.
Some of the key non-functional requirements include: support for vendor interoperability, loose coupling, long running
processes, and to coordinate the order fulfillment across multiple suppliers. The application logic needs to be able to
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adjust the business processes to accommodate the success or failure of downstream suppliers being able to satisfy the
request. 

Which of the following quality of service standards should be used for the Web services? 

A. WS-Activity Session 

B. WS-Business Activity 

C. WS-Reliable Messaging 

D. WS-Atomic Transaction 

E. WS-Business Transaction 

Correct Answer: B 

 

QUESTION 9

A developer is building a JAX-WS Web service to be deployed on IBM Web Sphere Application Server V7.0. The
service consumers are financial institutions with client applications using Microsoft .NET V3.5. The service will be used
to retrieve image files and send them to the financial institutions. 

What is the recommended approach to send the image files? 

A. SOAP with Attachments 

B. Direct Internet Message Encapsulation (DIME) 

C. Message Transmission Optimization Mechanism (MTOM) 

D. Message Handlers and the SOAP with Attachments API for Java (SAAJ) 

Correct Answer: C 

 

QUESTION 10

A bank would like to design a JAX-WS Web service to transfer funds. The server will be deployed to IBM Web Sphere
Application Server V7.0.Two key requirements are to ensure: 

1) the request is only sent once 2) cross vendor interoperability 

What is the best way to accomplish this? 

A. Use WS-Security 

B. Use WS-Atomic Transaction 

C. Use WS-Reliable Messaging 

D. Add a handler to implement the duplication detection logic 

E. Implement application code in the Web service to detect duplication 
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Correct Answer: C 

 

QUESTION 11

A developer is using the Web container programming model as per JSR109. Which statement regarding the Service
Implementation Bean is true? 

A. The class can be final 

B. The class must define finalize() method 

C. The class must have a default public constructor 

D. The class can save client specific state across method calls using instance variables 

Correct Answer: C 

 

QUESTION 12

A developer has created a new Web service but now he wants to publicize the details of it so it can be discovered by
other consumers. 

What technology(ies) or product(s) can the developer use? 

A. UDDI 

B. a custom registry 

C. WS-Management 

D. WS-Metadata Exchange 

E. Web Services Distributed Management 

F. Web Sphere Service Registry and Repository 

Correct Answer: ABF 

 

QUESTION 13

Which statement is TRUE? 

A. Returning true from the handle Message() method tells the JAX-WS runtime that processing of the handler chain
should end. 

B. Returning true from the handle Message() method tells the JAX-WS runtime that processing should move to the next
handler in the chain 

C. The handle Message() method should be replaced by handle Request() andhandleResponse() methods for a JAX-
WS runtime 
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D. The signature of handle Message should be public void handle Message(LogicalMessageContext context) 

Correct Answer: B 

 

QUESTION 14

What can be used to test and publish Web services toIBM UDDI? 

A. Web Services Explorer 

B. IBM UDDI Test Registry 

C. Universal Test Client (UTC) 

D. Web services sample test JSPs 

Correct Answer: A 

 

QUESTION 15

Using the JavaBean in Exhibit 1, the developer runs the following: wsgen -class path .\classes wsdl test.BookWhat
artifacts are generated when the command completes? 

A. GetIsbn.class, GetIsbnResponse.class 

B. GetIsbnRequest.class, GetIsbnResponse.class 

C. BookService.wsdl, GetIsbnRequest.class, GetIsbnResponse.class 

D. BookService_schema1.xsd, BookService.wsdl, GetIsbn.class, GetIsbnResponse.class 

E. BookService_schema1.xsd, BookService.wsdl, GetIsbnRequest.class,GetIsbnResponse.class 

Correct Answer: D 
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